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public class HelloWorld {
public static void main(String[] args){
diff [ for (inti=0;i<10; i++ ){ ]
N — System.out.printin(“HelloWorld!”);
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public static void main(String[] args){ by
for (inti=0;i<10; i++ ){
System.out.printin(“ HelloWorld!!");
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\ } for (int i =0; i < 5; i++ ){ public static void main(String[] args){
- System.out.printin(“ HelloWorld!!"); T for (inti=0;1<5; i++
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public static void main(String[] args){
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Java

public class Helloworld {
public static void main(String[] args){

inti=0;

while(i<5){
System.out.printin("Hello World!!")
i++;

}

<method name="main" visibility="public" static="true">
<type name="void" primitive="true"/>
<formal-arguments><formal-argument name="args" id="HelloWorld:frm-9">
<type name="String" dimensions="1"/>
</formal-argument></formal-arguments>
<block>
<local-variable name="i{" id="HelloWorld:var-26">
<type name="int" primitive="true"/>
<literal-number kind="integer" value="0"/></local-variable>
<loop kind="while"><test>
<binary-expr op="&lt;"><var-ref name="i"/>
<literal-number kind="integer" value="5"/></binary-expr></test>
<block>
<send message="printin">
<target><field-access field="out"><var-ref name="System"/>
</field-access></target><arguments>
<literal-string value="Hello World!!"/></arguments></send>
<unary-expr op="++" post="true"><var-ref name="i"/></unary-expr3
</block></loop>
</block></method>

JavaML

public static void main(String[] args){ }

<Jmethod hame="main” visibility="public” static="true">
<type name="void" primitive="true"/>
<formal-arguments>
<formal-argument name="args" id="HellowWorld:frm-9">
<type name="String" dimensions="1"/>
</formal-argument=>
</formal-arguments>

<fmethod}

<|ocalvariable jname="i{" id="HelloWorld:var26">
<type name="int" primitive="true"/>
<literaknumber kind="integer"value="0"/>

<[localvariable¥

i++
<|una[y-exgr op="+++" post="true">

<var-ref name="i"/>

</unary-expr{

<method name="main" visibility="public" static="true">

<type name="void" primitive="true"/>
<formal-arguments><formal-argument name="args" id="HelloWorld:frm-9">
<type name="String" dimensions="1"/>
</formal-argument></formal-arguments>

<block>

<local-variable name="i" id="HeIIoWorId:var-26">|
<type name="int" primitive="true",
<literal-number kind="inteq
<loop kind="while">
<binary-expr op="&It;"
<literal-number kind="integer" value="5",

</field-access></target><arguments>

<literal-string value="Hello World!!"/>£/arguments></send>
<unary-expr op="++" post=’"true">1 <var-ref name="i"/>
</unary-expr></block></loop>

</block></method>
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